Pull of x for PV

Ratio
-

Pull of y for PV

Ratio
.

Pull of z for PV

Ratio
-

.....................

.....................

.......

......

..........................

10?

So. (Ge\})03

Pull of x for merged vertices
o 9o
(o2 Be]

Ratio

= o=e
2 o ® N

=
=N

o
IS

UL L L DL L UL P UL L L

F o
[N

&

0.5l b IS ekl

—=— DQM_TT__Original_lowpt

—— DQM_TT__Original-pLess_lowpt

Pull of y for merged vertices

Ratio

Pull of z for merged vertices

Ratio
-

LU L DAL AL L LN L DU L P

LU LR L DL AL UL LR L DU B L




	Contents
	Page 1


